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Worksheet No: 6

MULTIPLE CHOICE QUESTIONS [1 MARK]

Q.1. How much of earth’s surface is covered with water?

a) 1/2th b) 1/4th

c) 2/4th d) 3/4th

Q.2. Which of the following is not a source of water?
a) Ocean b) Rain

c¢) Ground water d) Surface water

Q.3. Which among the following is the reason of water scarcity?
a) Industrialisation b) Urbanisation
c) Modernisation d) All of these

Q.4. Water harvesting system had been sophisticated by channelling the flood water of the Ganga

by:
a) Sringaverapura b) Chandragupta Maurya
c) Asoka d) Tipu Sultan

Q.5. Dams, lakes and irrigation systems were built during the reign of
a) Asoka b) Chandragupta Maurya
c) Akbar d) lltutmish

Q.6. Dams are built for the following purposes:
a) Flood control b) Recreation

c) Fish breeding d) All of these

Q.7. Study the picture and answer the question that follows:

Which of the following best signifies the above image?
a) Dam b) Reservoir
c) Rainwater harvesting d) Rooftop rainwater harvesting
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Q.8. Who proclaimed the dams as the ‘temples of modern India’?
a) Mahatma Gandhi b) Jawaharlal Nehru
c) Sardar Patel d) Indira Gandhi

Q.9. In the semi-arid and arid regions of Rajasthan, all the houses store drinking water in

a) Matkas b) Kuls
c) Tankas d) Guls

Assertion and reason-based questions:

Directions: In the following questions, a statement of assertion is followed by a statement of
reason. Mark the correct choice as:

(a) Both assertion and reason are correct and reason is the correct explanation of assertion.
(b) Both assertion and reason are correct but reason is not the correct explanation of assertion.
(c) Assertion is true but reason is false.

(d) Assertion is false but reason is true.

1.Assertion: Water is a renewable resource.

Reason: Fresh water is mainly obtained from surface run off and ground water that is continually
being renewed.

Ans. (a) Both assertion and reason are correct and reason is the correct explanation of assertion.

2.Assertion: The availability of water resources varies over space and time.

Reason: Availability of water resources helps in storing water.
Ans. (c) Assertion is true but reason is false.
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